

$$\lim_{n \rightarrow -\infty} \frac{n^2 + 1 \cdot n + 1}{15 + 4\sqrt{n}} \Rightarrow \lim_{n \rightarrow -\infty} \frac{(n+1)(n+1)}{4(\sqrt{n}+1)} \times \frac{(\sqrt{n}^2 - 1\sqrt{n} + 1)}{(\sqrt{n}^2 + 1\sqrt{n} + 1)}$$

$$\Rightarrow \lim_{n \rightarrow -\infty} \frac{(n+1)(n+1)}{4(n+1)} \times \frac{1}{1} = -\frac{4}{4} \times 1 = -1 \rightarrow \text{جواب}$$

$$\lim_{n \rightarrow 0} \frac{\sqrt{1+cn} - \sqrt{1-n}}{\sqrt{1-n}} = \frac{\sqrt{1+cn} - \sqrt{1-n}}{\frac{1}{\sqrt{1-n}}} \quad \text{با } \alpha \sim 1 - \frac{a^2}{r} \Rightarrow 1 - \alpha \sim \frac{a^2}{r} \quad (+)$$

$$\lim_{n \rightarrow 0} \frac{\sqrt{1+cn} - \sqrt{1-n}}{\frac{1}{\sqrt{1-n}}} \times \frac{\text{مخرج صورت}}{\text{مخرج صورت}} \Rightarrow \lim_{n \rightarrow 0} \frac{cn}{\frac{1}{\sqrt{1-n}}} \times \frac{1}{\sqrt{1-n}} = \frac{cn}{-1-n} = -2 \rightarrow \text{جواب}$$

$$\lim_{n \rightarrow 0} \frac{k + a(\sqrt{n})}{kn^2} = \frac{k + (1 - \frac{a^2}{r})}{kn^2} = c \quad \text{با } \alpha \sim 1 - \frac{a^2}{r} \quad (+)$$

$$\lim_{n \rightarrow 0} \frac{k + 1 - \frac{a^2}{r}}{-1 - \frac{a^2}{r}} = c \Rightarrow k = -1 \quad \frac{a^2}{r} = c \Rightarrow 9.5 \quad (+)$$

با توجه به مخرج صحت است که باید صورت نیز صحت باشد تا حد نهایی را پیدا کنیم

$$\frac{a}{k} = \frac{4}{-1} = -4 \rightarrow \text{جواب}$$

$$\lim_{a \rightarrow (\infty)^+} \frac{r\sqrt{n-ca} + c\sqrt{n-1}ca}{\sqrt{n-ca} \cdot \sqrt{n+ca}} = \frac{r\sqrt{n-ca} + c(\sqrt{n-1}ca)}{\sqrt{n-ca} \cdot \sqrt{n+ca}} \times \frac{\sqrt{n+ca}}{\sqrt{n+ca}}$$

$$\rightarrow \frac{r\sqrt{n-ca}(\sqrt{n+ca}) + c(n-ca)}{\sqrt{n-ca} \cdot \sqrt{n+ca} \cdot (\sqrt{n+ca})} = \frac{\sqrt{n-ca}(r(\sqrt{n+ca}) + c\sqrt{n-ca})}{\sqrt{n-ca} \sqrt{n+ca} (\sqrt{n+ca})} = \frac{r}{\sqrt{4a}}$$

$$\lim_{n \rightarrow 1} \frac{1-k(n)}{n^2-1} = -\infty \xrightarrow{+} \frac{1+k}{1} = -\infty \rightarrow 1+k < 0 \rightarrow k < -1$$

$$\xrightarrow{-} \frac{1+rk}{0^+} = -\infty \rightarrow 1+rk < 0 \rightarrow k < -\frac{1}{r}$$

$$\Rightarrow -1 < n < -\frac{1}{r} \rightarrow -\infty < n < -\frac{1}{r} \rightarrow -1 < n < \infty$$

$$(n, \cos n) \rightarrow \frac{-\infty - \frac{1}{r}}{+1} \quad \text{با } n < -\frac{1}{r} \rightarrow \text{جواب}$$